

ON STRONG MATRIX SUMMABILITY

by G. PRASAD* and M. L. MITTAL, *Department of Mathematics,
University of Roorkee, Roorkee*

In this note, we establish necessary and sufficient conditions for strong matrix summability of series Σu_n . The paper generalizes a theorem of Hyslop (1952) on strong Cesàro summability of infinite series and theorems of Prasad (1966) and Prasad and Mittal (1978) on strong Nörlund summability.

§1. Let Σu_n be a given infinite series with sequence of partial sums $\{s_n\}$. Let $\|T\| \equiv (a_{n,k})$ be an infinite rectangular matrix with real constants. Then sequence-to-sequence transformation

$$t_n = \sum_{k=0}^{\infty} a_{n,k} s_k, \quad n = 0, 1, 2, \dots, \quad \dots(1.1)$$

defines the T -transform of the sequence $\{s_n\}$. The series Σu_n is said to be T -summable to s , if $\lim_{n \rightarrow \infty} t_n = s$.

If matrix elements $a_{n,k} = 0$, for every $k > n$, then the matrix is called triangular matrix. The matrix T — reduces to Nörlund (1919) matrix generated by the sequence of coefficients $\{p_n\}$, if

$$a_{n,k} = \begin{cases} \frac{P_{n-k}}{P_n}, & \text{if } k \leq n; \\ 0, & \text{if } k > n; \end{cases}$$

where

$$P_n = \sum_{k=0}^n p_k \neq 0.$$

§2. Srivastava (1960) has given the following definition for strong matrix summability :

Definition 1 — The series Σu_n is said to be strongly summable with index q , by the T — process or summable $[T, q]$, $q \geq 1$, to the sums s , if

$$\sum_{r=0}^n r^q |t_r - t_{r-1}|^q = o(n), \text{ as } n \rightarrow \infty; \quad \dots(2.1)$$

*Present address : Department of Mathematics, University of Baghdad, Baghdad.

and

$$t_n \rightarrow s, \text{ as } n \rightarrow \infty ; \tag{2.2}$$

where t_n is defined as in (1.1).

If the matrix T is a Nörlund matrix, then this definition reduces to the definition of strong Nörlund summability $[N, p_n, q]$ of the series Σu_n .

The authors Prasad and Mittal (1978) have proved a following necessary and sufficient condition for $[N, p_n, q]$ summability :

Theorem A — If $p_n > 0$, and satisfies

$$(n + 1) p_n = O(P_n) \tag{2.3}$$

then the necessary and sufficient conditions for Σu_n to be summable $[N, p_n, q]$, $q \geq 1$, to the sum s , is that

$$\sum_{r=0}^n \left\{ \frac{(r + 1) p_r}{P_r} \right\}^q |T_r - s|^q = o(n) \text{ as } n \rightarrow \infty ; \tag{2.4}$$

and

$$t_n \rightarrow s, \text{ as } n \rightarrow \infty ; \tag{2.5}$$

where

$$t_n = \frac{1}{P_n} \sum_{k=0}^n p_{n-k} s_k, \tag{2.6}$$

and

$$\left. \begin{aligned} T_n &= \frac{1}{p_n} \sum_{k=0}^n s_k \nabla p_{n-k} \\ &= \frac{1}{p_n} \sum_{k=0}^n u_k p_{n-k}. \end{aligned} \right\} \tag{2.7}$$

($\nabla p_{n-k} \equiv p_{n-k} - p_{n-k-1}$)

In this note, we extended Theorem *A* to strong matrix summability.

We prove :

Theorem 1 — Let $\|T\| \equiv (a_{n,k})$ be an infinite triangular matrix and

$$A_{n,k} = \sum_{r=k}^n a_{n,r} \text{ with } a_{n,k} \geq 0, A_{n,0} = 1 \text{ and let } a_{n,k} \text{ also satisfy}$$

$$a_{n-1,k} \geq (1 + a_{n,0}) a_{n,k+1}, \text{ for } 0 \leq k \leq n - 1, n \geq 1 ; \quad \dots(2.8)$$

$$a_{n,0} = O(1/n) \quad \dots(2.9)$$

then the necessary and sufficient conditions for Σu_n with $s_n = o(n)$, to be summable $[T, q]$ to the sum s , are that

$$\sum_{r=0}^n [ra_{r,0} (1 + a_{r,0})]^q |T_r - s|^q = o(n), \text{ as } n \rightarrow \infty ; \quad \dots(2.10)$$

and

$$t_n \rightarrow s, \text{ as } n \rightarrow \infty ; \quad \dots(2.11)$$

where t_n is defined as in (1.1) and

$$\left. \begin{aligned} T_n &= \frac{1}{a_{n,0}} \sum_{k=0}^n s_k \Delta_k a_{n,k} \\ &= \frac{1}{a_{n,0}} \sum_{k=0}^n u_k a_{n,k}. \end{aligned} \right\} \dots(2.12)$$

($\Delta_k a_{n,k} \equiv a_{n,k} - a_{n,k+1}$)

In proving Theorem 1, we require the following lemma :

Lemma 1 (Varshney 1977) — If $a_{n,k} \geq 0$, satisfies condition (2.8) and (2.9) and if

$$B_{r,k} = A_{r-1,k} - (1 + a_{r,0}) A_{r,k+1}, \text{ for } 0 \leq k \leq r - 1 ; r \geq 1 ;$$

then

$$B_{r,k} \geq 0 ; B_{r,k} \geq B_{r,k+1} \text{ and } B_{r,k} \leq \frac{C}{(r + 1)^2}.$$

PROOF OF THEOREM 1 : Without any loss of generality, we may assume that the sum of the series is zero. First by using (1.1) and (2.12), we have

$$\begin{aligned} T_r &= \frac{1}{a_{r,0}} \sum_{k=0}^r s_k \Delta_k a_{r,k} \\ &= \frac{1}{a_{r,0}} \left(\sum_{k=0}^r s_k a_{r,k} - \sum_{k=0}^r s_k a_{r,k+1} \right) \end{aligned}$$

$$\begin{aligned}
 &= \frac{1}{a_{r,0}} \sum_{k=0}^r s_k(a_{r,k} - a_{r-1,k}) \\
 &\quad + \frac{1}{a_{r,0}} \sum_{k=0}^{r-1} s_k [a_{r-1,k} - (1 + a_{r,0}) a_{r,k+1}] \\
 &\quad + \sum_{k=0}^{r-1} s_k a_{r,k+1} \\
 &= \frac{1}{a_{r,0}} \left[(t_r - t_{r-1}) + \sum_{k=0}^{r-1} s_k(B_{r,k} - B_{r,k+1}) \right] \\
 &\quad + \sum_{k=0}^{r-1} s_{k+1} a_{r,k+1} - \sum_{k=0}^{r-1} u_{k+1} a_{r,k+1} \\
 &= \frac{1}{a_{r,0}} \left[(t_r - t_{r-1}) + \sum_{k=0}^{r-1} s_k(B_{r,k} - B_{r,k+1}) \right] \\
 &\quad + \sum_{k=0}^r a_{r,k} s_k - \sum_{k=1}^r a_{r,k} u_k \\
 &= \frac{1}{a_{r,0}} \left[(t_r - t_{r-1}) + \sum_{k=0}^{r-1} s_k(B_{r,k} - B_{r,k+1}) \right] + t_r - a_{r,0} T_r
 \end{aligned}$$

Thus

$$(1 + a_{r,0}) T_r = \frac{1}{a_{r,0}} \left[(t_r - t_{r-1}) + \sum_{k=0}^{r-1} s_k(B_{r,k} - B_{r,k+1}) + a_{r,0} t_r \right]$$

or

$$ra_{r,0}(1 + a_{r,0}) T_r = r(t_r - t_{r-1}) + r \sum_{k=0}^{r-1} s_k(B_{r,k} - B_{r,k+1}) + ra_{r,0} t_r \dots(2.13)$$

or

$$\begin{aligned}
 \sum_{r=0}^n \{ra_{r,0}(1 + a_{r,0}) | T_r | \}^a &= \sum_{r=0}^n \{ | r(t_r - t_{r-1}) \\
 &\quad + r \sum_{k=0}^{r-1} s_k(B_{r,k} - B_{r,k+1}) + ra_{r,0} t_r | \}^a
 \end{aligned}$$

Now, using Minkowski's inequality, (2.1), (2.2) and (2.9), we get

$$\begin{aligned}
 & \left[\sum_{r=0}^n \{ra_{r,0}(1 + a_{r,0}) | T_r | \}^a \right]^{1/a} \\
 &= \left[\sum_{r=0}^n \left| r(t_r - t_{r-1}) + r \sum_{k=0}^{r-1} s_k(B_{r,k} - B_{r,k+1}) + ra_{r,0} t_r \right|^a \right]^{1/a} \\
 &\leq \left[\sum_{r=0}^n r^a | t_r - t_{r-1} |^a \right]^{1/a} + \left[\sum_{r=0}^n r^a \left| \sum_{k=0}^{r-1} s_k(B_{r,k} - B_{r,k+1}) \right|^a \right]^{1/a} \\
 &\quad + \left[\sum_{r=0}^n (ra_{r,0})^a | t_r |^a \right]^{1/a} \\
 &= o(n^{1/a}) + \left[\sum_{r=0}^n r^a \left\{ \sum_{k=0}^{r-1} o(k) | B_{r,k} - B_{r,k+1} | \right\}^a \right]^{1/a} \\
 &\quad + \left[\sum_{r=0}^n (ra_{r,0})^a | t_r |^a \right]^{1/a} \\
 &\leq o(n^{1/a}) + \left[\sum_{r=0}^n o(r^{2a}) \left\{ \sum_{k=0}^{r-1} (B_{r,k} - B_{r,k+1}) \right\}^a \right]^{1/a} \\
 &= o(n^{1/a}) + \left[\sum_{r=0}^n o(r^{2a}) B_{r,0}^a \right]^{1/a} \\
 &\leq o(n^{1/a}) + \left(\sum_{r=0}^n o(1) \right)^{1/a} \\
 &= o(n^{1/a}) \tag{2.14}
 \end{aligned}$$

in view of lemma 1 and $s_k = o(k)$. Hence the conditions (2.10) and (2.11) are necessary. We now prove that conditions (2.10) and (2.11) are sufficient.

Again, by using Minkowski's inequality, (2.9), (2.10), (2.11) and (2.13), we have

$$\begin{aligned}
 | r(t_r - t_{r-1}) |^a &= | ra_{r,0}(1 + a_{r,0}) T_r \\
 &\quad - r \sum_{k=0}^{r-1} s_k(B_{r,k} - B_{r,k+1}) - ra_{r,0} t_r |^a
 \end{aligned}$$

or

$$\begin{aligned}
 \left[\sum_{r=0}^n | r(t_r - t_{r-1}) |^a \right]^{1/a} &= \left[\sum_{r=0}^n \left| ra_{r,0}(1 + a_{r,0}) T_r \right. \right. \\
 &\quad \left. \left. - r \sum_{k=0}^{r-1} s_k(B_{r,k} - B_{r,k+1}) - ra_{r,0} t_r \right|^a \right]^{1/a}
 \end{aligned}$$

$$\begin{aligned}
 &\leq [\sum_{r=0}^n \{ra_{r,0} (1 + a_{r,0})\}^q | T_r |^q]^{1/q} \\
 &\quad + [\sum_{r=0}^n r^q | \sum_{k=0}^{r-1} s_k(B_{r,k} - B_{r,k+1}) |^q]^{1/q} \\
 &\quad + [\sum_{r=0}^n (ra_{r,0})^q | t_r |^q]^{1/q} \\
 &= o(n^{1/q}) + [\sum_{r=0}^n r^q \{ \sum_{k=0}^{r-1} o(k) | B_{r,k} - B_{r,k+1} | \}^q]^{1/q} \\
 &\leq o(n^{1/q}) + [\sum_{r=0}^n o(r^{2q}) \{ \sum_{k=0}^{r-1} (B_{r,k} - B_{r,k+1}) \}^q]^{1/q} \\
 &\leq o(n^{1/q}) + o(n^{1/q}) \\
 &= o(n^{1/q}) \tag{2.15}
 \end{aligned}$$

in view of lemma 1 and $s_k = o(k)$.

Thus, combining (2.14) and (2.15), this completes the proof of Theorem 1.

But, we know

$$| T_r | < (1 + a_{r,0}) | T_r | < 2 | T_r | \tag{2.16}$$

in view of (2.9).

Therefore, we have

$$\begin{aligned}
 &\sum_{r=0}^n (ra_{r,0})^q | T_r - s |^q = o(n) \Leftrightarrow \\
 &\sum_{r=0}^n \{ra_{r,0} (1 + a_{r,0})\}^q | T_r - s |^q = o(n). \tag{2.17}
 \end{aligned}$$

In view of Theorem 1, and (2.17), we state the following Theorem :

Theorem 2 — Let $\| T \| \equiv (a_{n,k})$ be an infinite triangular matrix and $A_{n,k} = \sum_{r=k}^n a_{n,r}$ with $a_{n,k} \geq 0$, $A_{n,0} = 1$ and let $a_{n,k}$ also satisfy (2.8) and (2.9), then the necessary and sufficient conditions for $\sum u_n$ with $s_n = o(n)$, to be summable $[T, q]$, $q \geq 1$, to the sum s , are that

$$\sum_{r=0}^n (ra_{r,0})^q | T_r - s |^q = o(n), \text{ as } n \rightarrow \infty, \text{ and condition (2.11).} \tag{2.18}$$

Theorem 2 is an extension of Theorem A and also it includes some other results by Hyslop (1951) and Prasad (1966).

REFERENCES

- Hyslop, J. M. (1952). Note on strong summability of infinite series. *Proc. Glasgow math. Assoc.*, 16-20.
- Nörlund, N. E. (1919). Sur une application des fonctions permutables. *Lunds Uni. Arss.* (2), 16, No. 3.
- Prasad, G. (1966). On strong Nörlund summability. *Univ. Roorkee Res. J.*, 9 Nos. 1 and 2, 87-98.
- Prasad, G., and Mittal, M. L. (1978). On strong Nörlund summability. Communicated to *Proc. Camb. phil. Soc.*
- Srivastava, P. (1960). On the concept of strong summability. *Proc. natn. Inst. Sci., India*, 26, 545-52.
- Varshney, O. P. (1977). On the absolute matrix summability of Fourier series. (Unpublished).